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a) 4x3= k 1293 +7119=

b) 8x5= ) 9612-9252=

0 7x9= m) 89 x 82 =

d 16 +4-= n 432 +4 =

e) 45+5= o) 14—-4x3=

f 24+2= p) 7+(16-7)=

g 18+6= q) —154=0

m L _ L n 70 — =34
2 8

i) l'l'l: s) 3& ﬂ """"
2.2z 0 S|+2 x3 ;)21

j) lx18= 3;I .......
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a) 1x12= kk 2035+7119=

b) 6x8= ) 8560-6791-=

¢ 5x5= m 312 + =425

d 14+7= n 24+ =4

el 60+5= o 2x8+2=

fy 74x35= p 16+2+2=

gl 986+8= a 4000ml=............. l

h) iz_ N 60mm=.............. cm

3 9

i) §+—= ) SM= i, cm

) -x18= Y 2000 g = oo kg
7; 14; 21; ; ; ;

; 625; . 575; ; 525




) 3x9-= N 3646+ 6082 =
b) 6x7= ) 7154-547 =

o 44+11= m) 8 X =24
d 63+9= n 126 -8+ =126
e) 36+6= o (4+3)x6=

) 62x59= ) 18—9+3=

g 686+7= < of > of =

h) g_zT a) 334 .. 343

i) %+%= r) % ........ g

) =x25= S 5001 ... 500 ml
8; 16; 24; ; ’ ;

660; 710;
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a) 11x8= ky 4771+5234=

b) 6X6= ) 6923 -6386=

o 12x7= m) 56 x 15 =

d 5+1= n 981 +6=

e) 21+7= o) 4x(15-8) =

f) 24+6= ) 17-8+4=

g) 15+3= q) +4—4=561

h 3 - 2 — 86=58
4 12

i) %+§: s) EN .......

...... - -4 xlD;)ED

) =x44 = EJ'7I .......

9;18; 27; ; ; ; ;
;6 999; 6 996; ; ; 6987
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e)

f)

h)

j)

12;

6x12= kk 5160+ 3473 =

3x3= ) 5000-3835=

18+2= m) 656 — + 3 =656
35+5= n) +165=273

56 -8 = o0 5+20+5=

48 x 52 = p) 13+(16-7)=

750+ 5= A 20 = e, ml
iz_ N 10cm=.....cceeuueeeneen. mm
3 1

L ) 2KkM = oo, m
6 6

%x40= ) 9KG = i, g
24; 36; ; ; ; ;

o ; 2080; 2060; 2 040; ;




» 6

a) 5x4= Kkl 6504+ 2945 =
b) 3x7= ) 4785-2963=
0 8+8= m 37X =37
d 30+6= n) x/7 =21
e) 438x5 = o 54+(7+2)=
) 97x16= P 60— (3x6)=
g) 357+4-= < of > of =
h 2 — L a) 3005....... 999

10 2
) S+lo Nl ks

4 4

j) %x35= s 500 g ........ %kg

783; 778; 773; ; ;

4150,  ;4200; ~;4250,



a) 4x4-= ky 7829+ 851 =
b) 8x9= ) 3008-2419=
o 3x12= m) 63 X 28 =
d 66+11-= n 195+ 3=
e) 27+3= o) 36 +(15-6) =
f) 364x6= p) 3x8+2=
g 40+5= q 173 — =69
n L - L n 15+ =1
5 10
) 24+2= ) 2 NIPEy = Pl
j) %x24= 3” N
~,;578;478;,  ;278;

974;981;, ; 995; ;




